
Anatomy 121
Duodenum & pancreas -diaphragm


1) The following statements concerning the duodenum are correct except which?
A. the lower 1/2 receives its arterial supply from the superior mesenteric artery via the inferior pancreaticoduodenal artery.
B. the 1st part is completely retroperitoneal.
C. the bile duct enters the 2nd (vertical) portion of the duodenum.
D. lymph from the 4th of the duodenum drains into the superior mesenteric nodes.
E. the 3rd part passes horizontally to the left in front of the vertebral column & behind the root of mesentery.



2) If an ulcer had perforated the posterior abdominal wall of the 1st part of the duodenum , the artery have been eroded is:
A. the splenic artery.
B. the right gastric artery.
C. the gastroduodenal artery.
D. the right gastroepiploic artery. 
E. the right renal artery.



3) The following statements concerning the pancreas are correct except which?
A. it receives part of the arterial supply from the splenic artery.
B. the main pancreatic duct opens into the 3rd part of the duodenum.
C. the uncinate process of the pancreas projects from the head of the pancreas. 
D. the(common) bile duct lies posterior to the head of the pancreas.
E. the transverse mesocolon is attached to the anterior border of the pancreas.

4) The following statements concerning the diaphragm are correct except which?
A. is thin musculotendinous sheet that can be ruptured by extreme pressure from below. 
B. on contraction , the diaphragm increase the intrathoracic pressure.
C. the right crus provides a sphincter-like mechanism for the esophagus. 
D. on contraction , the diaphragm assists in the return of venous blood to the right atrium and lymph to the thoracic duct.
E. when viewed from in front , the central tendon lies behind the xiphisternal joint.


5) In diaphragm the azygos vein passes :
A. through the aortic hiatus.
B. through the esophageal hiatus.
C. through the vena caval hiatus.
D. through the perforation in the crura. 
E. between the slips of the origin of the diaphragm from the ribs.


6) In diaphragm the thoracic duct passes through :
A. the esophageal hiatus
B. the vena caval hiatus.
C. the aortic hiatus. 
D. the perforation in the crura. 
E. none of the above.


7) In diaphragm the vagus nerves pass :
A. through the vena caval hiatus.
B. through the aortic hiatus.
C. between the slips of the origin of the diaphragm from the ribs. 
D. through the esophageal hiatus. 
E. through the perforation in the crura.


8) The following structures pass through the esophageal hiatus in the diaphragm except which?
A. the left vagus nerve.
B. branches of the left gastric artery
C. the left phrenic nerve.
D. the right vagus nerve. 
E. a tributary of portal vein.
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